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To compare the suitability of everyday materials

Think about whether materials are suitable or
unsuitable for particular purposes and give reasons

E%E 5‘!5 Example

1. Paper s suitable / |unsuitable| for atoaster because

== ==z b

2. Rubber is suitable / wunsuitable for wellies because

g A 5 @

3. Metal is suitable / unsuitable for aballoon because

4
=5 5?5

4., Glass is suitable / unsuitable for a mirror because
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To compare the suitability of everyday materials
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5. Fabric is suitable unsuitable for ateddy because
4 &
i i =2 =]

6. Wood is suitable unsuitable for alight bulb because

%
===

suitable

for apen because

%
=2

suitable

&
5=

unsuitable

ry

for aposter because

ooooooooooooooooooooooooooooooooooooooooooooo
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To compare the suitability of everyday materials

2 &
2 =y P

9. Glass is suitable / wunsuitable for

a hat because

50
ﬂﬂﬂﬂ 535 E!E \

10. Wood is suitable / unsuitable for apencil because

= 2 s Y

11. Metal is suitable / unsuitable for

a knife because

ERp =] at=] é
12. Plastic is suitable / wunsuitable for a water bottle because

()
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To compare the suitability of everyday materials

‘”‘%@ 2 =S 0

13. Fabric is suitable / unsuitable for ajumper because

% g
) =5 ‘

14. Glass is suitable / unsuitable for acoat because

i%% zég 5!5 <

15. Rubber is suitable / wunsuitable for an elasticband because

16. Fabric is suitable / wunsuitable for awindow because
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To compare the suitability of everyday materials

I i N I
9 =5 S
1. Paper is unsuitable for atoaster because paper
SAN é SAN
O =5 O
2. Rubber is suitable for wellies because rubber s
g “« 4=
S =2 o
3. Metal is wunsuitable for aballoon because metal
ke ke
=5 =4
4. Glass is suitable for amirror because glass s

transparent.
&8 =55 ot ¥

5. Fabric is suitable for ateddy because fabric s
ﬂﬁﬂﬂ =2 %ﬂﬂﬂﬁ

6. Wood is unsuitable for a lightbulb because wood
8 25 N\ i

7. Plastic is suitable for apen because plastic is
W - Bes ) &

8. Paper is suitable for aposter because paper s
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Possible

Answers

can  burn.
b
N——=
waterproof.
< =y
=

does not stretch.

(i
c—

smooth and

= G

softand cuddly.

%

is opaque.

2

light and resilient.
g
light  and flexible.
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9. Glass is unsuitable for ahat because glass is fragile and shatters.
g =5 0 X Py %

10. Wood is suitable for apencil because wood is easy tosharpen.
g < / 2g é
S =] o

11. Metal is suitable for aknife because metal is hard and sharp.
@$ =>~= é @$ '@)2

12. Plastic is suitable for a water bottle because plastic istransparent and

durable.

& £ A & e =

13. Fabric is suitable for ajumper because fabric is softand stretches.
& e & @ o
|| I

14. Glass is unsuitable for acoat because glass is fragile and shatters.
SAY é / SASE-

O =5 © =

15. Rubber is suitable for anelasticband because rubber stretches.

16. Fabric is wunsuitable for awindow because fabric is opaque or

translucent.
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